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Median=L +C 2

L (the lower limit of the median class)

C (width of class interval, i.e., two successive lower (or
upper) class boundaries)

n (the number of observations in the data set (or sample)

(cumulative frequency up to
but not including the median class’s frequency)

f (frequency of the median class)

(mode)

S ={2,581335.10,7,6}
mean=5 ; median=5 ;and mode= 3 5.

S =1{2,3,4,1,3,3,1,10,7,6}

Mode:L+C( dy j
d,+d,

d, frequency of the modal class minus the frequency of the previous
class.



d, frequency of the modal class minus the frequency of the

following class.
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Class interval = (the largest value — the smallest value)=number of classes
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